Partnership
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Two persons A and B start a business with
investment of Rs24000 and Rs28000 respectively.
After 4 months C also joined them with certain
investment. Total profit at the end the year was
Rs.%{ C’s share in profit was Rs}?h What
was tﬁe C’s investment in the business?
& gfdd A4 IR B FHAW RsZ4000 3
Rs28000 & 3 & WY T& FaAT YT A
| 4nﬁﬁ$aﬁcwﬁﬁar$ww
ﬁamam|aéa?m#mmﬂ
Rs.19950 1| &f & ¢ & Rt 7600%

| =IaE™ # ¢ &1 A9 FAr 91?7

48000 b)45000 c)50000 d)40000
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2, @/_ﬂ,\g @ A started some business with Rs.26,000. After 3
@/N 73 C months, B joined him with Rs.16,000. After some
: ’ more time C joined them with Rs.25,000. At the

A6X 1L 5 ]6)(q : 25 XX end og|the year, out of the total profit of
L % J Rs:i-g—'ﬁ'&,c gets Rs asajs share. How many
5 2 mti i

. months after B joined the business, did C join?
%Xﬂé Y & A & 26000 T FT AAU FF TH F9AqT
T Y& | 3 A7 91€ B 16,000 T & QU %
76 a5 Y SfF | FT IR GAT F qG € AR
X | 25,000 ¥ AU & Y T3 A a¥ F

3 A, Fel S 15,453 T H & C Y 3825

3% REY & ™ & AeT, B & sggaw &

AT g1 & s #AdA 91g, € enﬁr»r'g'afr?
b) 4

)5 d) 2
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Person A started a business by investing
365,000. After a few months, B joined him by
investing 3I50,000. Three months after the
joining of B, C joined two with an investment of
X 55,000. At the end of the year, A got 50% of
profit as his share. For how many months did A
alone finance the business?

HFd A o 365000 T @AY FF TH
WQWlema:mlBaﬂ
%500003157%3%3»‘{3-73?37@3

B% aifAad g & ?ﬁﬁnﬁﬁm,caﬁi
55,000a;ﬁﬁara7mara’m’fa:wenﬁar
VI T F ITH, A IS B &
T F SH HT 50% UIST M A o 3Nhal
fFaa #AdET & v syawiy F1 fREqvor

fFar?
a) 2 /3 )5 d) 4

| SSCCGL T1, 21 Apr 2022 S1 | 4



A,B and C starts a business with investment
45000, 35000 and 25000 rupees respectively. C

2

T E’ will get extra 20% of total profit for managing the

A 2 & business and remaining profit will be divided in

/\2, 5 %ltheir investment ratio. The profit of C is Rs.6900

q/ Q less than the total profit of A and B. Then find the
6

2 g difference between profit of A and B?

\6_‘:!/ 2\ b4 B A ¢ FAT 45000%,35000 F 3R
! - 25000% & fA9Y & WY TH FaAE YR HId

_ Y] %|ca$rwma:wa:mmwan

@ 200 fARE BeEm 3R AW B A
X3¢ S dea) epard & Rnfoa fhar smeen| ¢ & A A

ﬁ?B*ﬁrm#e%oxm%?ﬂAaﬁT

B & ot & v @ 3R AT HfAA?

a) Rs.1600 Rs.2400

c) Rs.3200 d) Rs.3600
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A, B and C entered into a partnership by
investing their capital in the ratio 5:6:4. A4
gets 30% of the total profit for managing the
business. The remaining profit is divided
among them in the ratio of their investments.
At the end of a year, the profit of A was
20,000 more than the sum of the profit of B
and C. What was the share of B in the total
profit?

A, B 3R € @ 5:6:4 F Iqara H g
ﬁlﬂfﬂamﬁwwv@aﬂﬂw
F UaUT ¥, A T FoA AT F 30%
Aoar ¥ AF o, 3% dT 39 A
F HqAT H AT AT g UH ¥ A
TAIRT W, A4 F qT'-—cramB IR ¢+
gIod ATHT & T @ 320,000 IH&F AT
gﬁl’ﬂTﬂﬁ'BW%ﬂTﬁﬁﬂTﬂ?
}%1, 08,000 b) 390,000

384,000 d) 56,000

| ICAR, 28 Feb 2022, S1 |6



A, B and C enter into a partnership and invest their

1 5 1WIZ
capitals in the rati 312 respectively. A receive

one-fourth of the total profit for managing the
business and the remaining profit is divided
between them in the ratio of their investments. At
the end of a year. If A gets X1.26 lakh less than
what B and C together get in the profit, then what
is the share (in X lakh) of C in the total profit?

AB 3 ¢, 2.2, F eura F oot frder
aﬂﬂ:waﬁaﬁ#qﬂarm%hqw
& YaUA & TdSl H F AT H TH

feear urca #Xar ¥, dR Av anr @ IaF
faet & equra # 39F fig qQwer sar § v
a§ F 3a F IR 4 A, B 3K ¢ F wa
agmm#nzewwﬁaﬁ%.a‘rgﬁr
yﬁcm%w@m#)ﬁmm%?

3

78 b) 4.41 c)3.15 d) 2.52

| ICAR, 2 Mar 2022, S3 |7



Bq)(!/) A, B, and C started a business by investing Rs.

— ) 27,560, Rs.32,500 Rs.37, 500 respectively. A is
A & C a working partner and he gets 20% of profit as
W §5., ,}—5— élxgﬁworking allowance and the remaining is
0 distributed in proportion of their investments. If
l’l\/( @ @ the money received by C is Rs.13,500, what is
')(3°I total profit? 60
+39 A4,B 3R ¢ & HAA: ¥ 27,500, 32,500 3K
3375 %. 37,500 FT @Y & F AT YT
@ 12 . & 4w W R F AR 38w
135 X%%@ 15 =% & o & 39 # 209 @t ferar ¥ 3k
/—7@—‘ A F 3% AT F Iequra # RaRa B
/6/75 STaT & IR ¢ B UToT GeIRT F 13,500 &,
Y Fel ST WIS FAT B2
a)Rs. 35100 b) Rs.38425
c)Rs.42750 %5.43875

| SSCCPO 13 Mar 2019 S1 | 8



A and B had a joint business in which A4 invested
X60,000 in the business for one year. After 3
P).ée' L’) months B invested X80,000. At the beginning of

5 : ’{ &X’q/ the second year, A invested 330,000 more and B

withdrew X5,000. At the end of two years, profit

'\'b%m +W & earned by A is 335,880. What is the profit (in )

earned by B, if they distributed half of the total

profit equally and rest in the capital ratio ?

4 & 1 AR B s §IFA AIWT AT fwH AR
20 . IR tF 9§ & AT waET H 360,000 FT @I
_ 1 frarl 3 A a1 B o 380,000 FT1 fAder fFam|
la 19 a¥ & AT A, 4 F 330,000 T T
, 94T Ba 35,000 fAwrer faw) & ast &
39 ° 37 3T H, A T@RT AT aner 335,880 ¥ AR A
27t I Fel T F T FAW T F AR Aw G&h
2L 8ROXD| Iqud A FaRa & § @ B g@w afa
—_— A (I H) Fraer §2
T a) 69,920 b) 38,060
X 434, 040 Hf 58,940

| SSCCGLT1, 19 Apr 2022 SZ| 9
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A and B started a business with their investments
in the ratio 2:3. Both A and B being active
partners receive % and 060 per
month, respectively,“as their salaries"out of the
total profit earned.gAfter X months. If the total

profit earned is %Iakhs and the incomes of A
and B are equal, is the value of x?

AR BA2:3 F e # AU F=F
W e fram| A 3R B @& @Rew
arfier 8, sufaT O afSta Fo amr & & 9=
9T F T A HAW 336,000 3 330,000
yfd AIE Wed A 8 x AW a6, IR F
HTT 1 37.68 @ @), aUT A 3 B A
T AT &Y, dY x HT AT AT AT

a) 10 b) 6 ‘46/8 d) 9

| ICAR 4 Mar 2022, 52 |10
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A,B,C and D enters into a partnership. 4
subscribes 1/3rd of the capital, B 1/4th, C
1/5th and D the rest. What is the share of D
out of a profit of Rs. 6000?

ABC 3R D o M & WNUR
I fFam A & 9l %1 1/3 fRe, B
% REan, ¢ ¥ 1/5 REar qu AV D &
fader FaTl 6000 TUF & @A H D
T feEar 41 ghm?

a) 2000 \’:?,1500
c) 1200 ) 1300




1=4w  T=20

A B C
SxI ;45 I1x4
39

. 1 . 1
A invests z part of total investment for " of the total

. . . 1 1
time duration, but B invests S part for 2 of the total

time duration & C invests rest of the investment for
whole time duration. If total profit is Rs.5700. Find
the difference between the profit of A & C.

Agﬁl‘ﬁ'ﬂ'&l‘ﬂ% m,gwrmaiiafma?
for fder Fxar 8, s@fF B o fdw @

1amT FO AT & - 997 & fAw By Fwa

%mcwgmﬁ?}ar Feol GAHT & T fder
HIT T, aﬁwmmmsmox% ar

A C & VTH &T 3Hd¥ ATdT F?
3900 b)3200 «¢)3500 d)3000

| GP | 12



A, B and C subscribe Rs.47000 for a

- business. If A subscribes Rs.7000 more

A 12 C =u1k than B and B Rs.5000 more than C, then
2+12K  1+b000 Z out of total profit of Rs.4700, C receives:

‘ , AB3R ¢ ? t& SNUR & 47000 T

3'2}(. ‘g/{ . Y FA IR A ¥ B ¥ 7000 TT

}/x--la?alg sarer fader B 3k B & ¢ & 5000

U Sarer A RS, af 4700 OO &

I H ¥ ¢ F FEET T4y

a) Rs. 1200 b) Rs.4500
Rs.1000 d) None of these
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A,B and C invest in a business in the ratio
4 5:7. C is a sleeping partner, so his share of
proflts will be half of what it would have been if
he were a working partner. If they make
Rs.36, 000 profit of which 25% is reinvested in
the business, how much does B get (in Rs.)?

AB IR ¢ o Rl Roww & 4:5:7 &
Fequra # g fFan ¢ wRT e
Ia: 38w REwr 3@ REQ &1 3mur gem
3R 9§ afher 9reaiX gid1| Ifg 378 36,000
TOAl FT a1 Bar g3 WA ¥ T 25%
foeiw & g fay &T &3 8 a B &t
foraer f@aem?, (Fuat #)

a) 7560 10800 ¢) 8640 d) 9200

| SSC CGL T2 18Feb 2018 | 14




A,and B invested in a business in the ratio

Suw If 5% of total profit goes to charity and

(A’s share is Rs. 855) Find the total profit?
S AUl B Uah AR # 3:2 F 34T &
U5 el gt Fr fder fRaATl afy e e

FT 5% T a7 o 3 4 & R 855
’%—95—%’_@ AT A A, Fel A AT

95 a),570 b) 1425
/"q/ 1500 d) can’t say




X,Y,Z enter _into a partnership venture with a

capital 0000 in which the contribution of Y
and Z are, respectively, 4 Oo)oémore and X1,000

more than that of X. The profit earned is 20% of
the capital. Out of this profit, 10% goes towards
some incidental expenses. What is the share (in X)
of X out of it?

X,Y,Z fAasy |Eiedy # 1,20,000 #r geft @
UF 3¢IH Y YIAT F 8, Prad vy 3Rz &
A, X F A9EE H FHAA 40% 3R
1,000 3fO%F 3| Afoia amer qait &1 20% 3
T A A W, 10% INHEAS o¥AT A e
STt 3] SEE ¥ X FT R (% #) A9 fif
a) 7,500 b) 4,800

¢) 7,000 ,5({ 6,300

| SSC MTS, 12 Oct 2021, Sﬁ 6
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Two persons invested Rs.12500 and Rs.8500,
respectively in a business and decided that 60% of the
profits incurred from the business will be equally
divided between them while remaining profit will be
divided according to their investment. If one of the
partners gets Rs. 800 more profit than the other, what
is the total profit in the business?

S afdd F FAW: 12500 TIY TAT 8500 IUA
T& g9aT # faaer Far 3k ¥ ARaa Far &
AT FT 60% ST H e fFEar 7 @29 3 v
AT FI 3ADT Goll F IHAAR qMeT Seen| I vw
HI8ieR &7, a;srt#soo W&aﬁmmgm
Eﬂwﬁgmmmﬂmaﬁ

,ﬂlOSOO b) 9200 c) 8000 d) can’t say

| | 17
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A and B started a business with their capitals
in the ratio 9: 13, respectively. They agreed to
share the profit in the ratio of their
investment. C join the business with the
condition that A, B and C will share the profit
equally. C pays a sum of X3,08,000 as a
premium for goodwill. What will be the share
of B in this premium?

A 3R B & FAA: 9:13 &F AT F H9A
Ul & WY UE FaET U AT § I
fder & equra F @ WRT WA ¥ AU
HEAT 8T € 3 U4 F WY yawT H
afder & 7 4, B 3R ¢ qAT SO @ o
s F:9 c&afa & o fiffaw & &
# %3,08,000 # TR FT SEMERT FIGT Bl
=@ AT & B &1 Rear fhden gom?

a)%2,04,000 b)X1,87,000
2,38,000 d)X1,70,000

| ICAR, 2 Mar 2022, S1 18




A B C D
3 6 2 5

X 5 » 2 6
\g _ 1. U %0

EXN) .75

w9 =250 X1

A, B, C and D invest in a business in the ratio 3 :

6 : 2 : 5, respectively. But the capital was utilised

in the proportion 5 : 3 : 2 : 6, respectively. What
is the difference between the shares (in X) of A
and C out of a profit of X 50,250?

A, B, C 3 D U cqau@ T # HHAA: 3:6:2:
sa:m#ﬁﬁermél affrer gelt #
ST FHHA: 5:3:2:6 F FAUT F AT
IATI 350,250 F a7 F T A I ¢ F A
R #H) & & F FR TFaar &7

a)5,280 b)8,520 /8,250 d)5,820

| ICAR 4 Mar 2022, 51 |19
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Three partners invested Rs.42000, Rs. 48000 and
Rs.32000 respectively. Partnership condition is that,
each will get interest on his capital at the rate of 7%
annual and the remaining profit will be divided in the
ratio of their capitals. If at the end of the year the total
profit is Rs.32940, then find the share of A in the profit.
AT AEERY 3 FAA: 42000 F. 48000 F 3R
32000 ¥ H1 faaer far 8| 39 comr I8 & &,
Ycd® I 3 Gl W 7% af¥F oqrer & &7 &
freem 3 Ay amr F s Ay F oequa A
fasnfoa foar smwen| afe af & 3iq & For oy
32940 ¥ &, aY o1 A A &1 REwr AT

a) Rs.12960%s.11340 c) Rs.8640 d)Rs.10800

| GP | 20
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